
6SODVK�0HHW�0DQDJHU�����%XLOG����� 5HJLVWHUHG�WR�3ROLVK�6ZLPPLQJ�)HGHUDWLRQ �������������������6WURQD��

0LVWU]RVWZD�3ROVNL�Z�Sá\ZDQLX�-XQLRUyZ�0á�����ODW
'ĊELFD���������������

.RQNXUHQFMD�� ']LHZF]ąW����P�GRZROQ\ ���ODW
������������������ /LVWD�VWDUWRZD�)LQDá
7RS�7LPHV��3RODQG��2SHQ ����� .25&�$JDWD $::52 %HLMLQJ��&+1� ����������
7RS�7LPHV��3RODQG���� ����� 62.2à2:6.$�'LDQD -8%,$ *OLZLFH ����������

5RN�XU�

)LQDá�$

� :2-&,(&+2:6.$�*DEULHOD�62 �� 81,$�2ĞZLĊFLP �����
� 6=&=(3$1,.�-RDQQD �� :2'1,.�ĝUHP �����
� -$1,&=(.�-RDQQD�62 �� 81,$�2ĞZLĊFLP �����
� 62.2à2:6.$�'LDQD �� -89(1,$�%LDá\VWRN �����
� 6,5,*1$12�/XLJLD �� -25'$1�.UDNyZ �����
� 8/$72:6.$�$OLFMD�62 �� 81,$�2ĞZLĊFLP �����
� 3,(7521,(&�.DWDU]\QD �� 3,Ą7.$�&KRU]yZ �����
� 7$&=$à$�$OLFMD �� 3LĊWQDVWND�$48$�%\GJRV]F] �����

)LQDá�%

� *2/,ē6.$�.DWDU]\QD �� 73�2/,03,-&=<.�$OHNVDQGUyZ�àyG �����
� 5Ïĩ$/6.$�0DUW\QD �� *���%LHODQ\�:DUV]DZD �����
� 'à8*2àĉ&.$�.DUROLQD �� 81,$�%XVNR�=GUyM �����
� 2.$-�2OLZLD �� 0.6�026�.DWRZLFH �����
� .$63(5(.�.DWDU]\QD �� :$57$�3R]QDĔ �����
� 3$:à2:6.$�0DUWD �� 3LĊWQDVWND�$48$�%\GJRV]F] �����
� '<$.2:6.$�0DMD �� 25.$�&LHFKDQyZ �����
� */$1(57�'DULD �� Ï6(0.$�6WDURJDUG�*GDĔVNL �����

=DZRGQLF\�UH]HUZRZL

5<&=$.�0DMD �� $6725,$�%\GJRV]F] �����
*5$%$5&=<.�'RPLQLND �� *,0����856<1Ï:�:DUV]DZD �����


